2 2
prita) ey Pt TR ONCITON]
[GeV] [fb GeV 1] [GeV] [fb GeV 1]

0< |y(t,)| <05
0-45 3584+ 8 +73 225-270 145+ 4 +19
45-90 800£10+110 | 270-315 79+ 3 +11
90-135 740+10180 315-400 35+ 2 +6
135-180 478+ 8 +£58 400-800 4.3+ 0.3 0.6
180-225 260+ 6 £35 —
05 < [y(t)] < 1
0-45 3294 7 +55 225-270 123+ 4 +21
45-90 710+£104+100 270-315 63+ 3 +11
90-135 649+ 9 +71 315-400 254+ 1 +£3
135-180 412+ 7 +£47 400-800 3.2+ 0.3 £0.6
180-225 2314+ 5 £33 —
1 <|y(t,)| <15
0-45 2694+ 7 +43 225-270 85+ 3 +11
45-90 590+10+70 270-315 46+ 2 48
90-135 5124+ 9 +64 315-400 18+ 1 +3
135-180 324+ 7 +44 400-800 1.5+ 0.2 +£0.2
180-225 168+ 5 £25 —
1.5 < |y(ty)| < 2.5
0-45 182+ 6 +£24 225-270 454+ 2 48
45-90 3744+ 9 +49 270-315 20 1 +4
90-135 3094 7 +43 315-400 6.2+ 0.6 £0.9
135-180 169+ 5 +21 400-800 0.48+0.084+0.09
180-225 88+ 3 +£12 —




